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g iz | &80 ouT IN TOTAL HDCP NET
=i TR X 39 36 75 4.8 70.2
B (faH 5 39 36 75 4.8 70.2
3z |[EE = 41 36 77 6.0 71.0
441 |=F FF 44 36 80 8.4 71.6
5461 |Fik E&iF 42 36 78 6.0 72.0
6 |&H St 42 36 78 6.0 72.0
741 | Kfx AT 48 36 84 12.0 72.0
8 |(BAIZR FEZE 41 36 77 4.8 72.2
ofit |AAAX 47 36 83 10.8 72.2
102 | KE 8Ca 39 36 75 2.4 72.6
1541 | KE BE%& 48 36 84 10.8 73.2
204z Mk X 50 36 86 12.0 74.0
2541 =% = 46 36 82 7.2 74.8
30 |FHFAX BEA 43 36 79 3.6 75.4
3541 |fEH =E 43 36 79 2.4 76.6
4014z |/hlu & 49 36 85 7.2 77.8
BB |#H 1 55 36 91 12.0 79.0
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